1 4 3 4 S (5] x 8
35.
I I \
I I \
AN \
I : I !
I | I |
fuul ‘ funl
Al (128 N
|
|
i \
' I
. [ R -
5 |
& I -
N
o \ iiﬁﬁ}
I T I
%; | % t t
| - i
. see draw. 004§ .
f AR, N|
|
|
IS ANNN AN -
v |
<
™
,‘TJ
2350.4
2910
(38 (a1 (98
N J J
suppressed al | drawing
Level on the concrete with 3 M12 set screws 5 to 10mm - O\ e soetre
from concrete surface. bolt to ground with 6 M12 or ~ \V \\ ) modifications
1/2"-13 concrete anchor bolts, inject grout to stabilize. C N gdjustment screw
< D B wire
— J
RoOLd +op plate
A N support ring oss'y
A\ ) clamping cups 153 [ 172 cups
_J \/ added 1egend drow. 00ded 1 6g8na

97 grub M10x15 4
9697 tommy head M12x35 8

101 nut M1B B
98-99 hexag.—-head M12x40 32
detall Type npiec.

Screw's table

LIGO PROJECT

sianes for

R.De Salvo

o o
G.Gennaro-PROMEC

e

" HAM-OPTICAL BENCH

HORIZONTAL CAL IBRATOR

2-08

L1G0-D051149-01-D

/5 A

1 [

E] |

10




